Puénom :

Fiche do suivi - TaBles de mubtiplications

TABLE B 1

TABLE R 2

1 x 2= 2000000000000 V0OVLOVDODOOOO 2 x 2 Vi (0101010101010 1010101010 1010 X010 J0 OO X0 )
1 x3= 300000000 0O0O00O000LOOOOO 2x3 6 |O0000000O000O0O0OOOOVOOO
1x4= 400000000 0V0AQV0V0OOVOOOOOO 2 x4 I [o]Jo)oJoloJoJoJo)oJ0 000000 )0 O IO XO]
1 xXx5= 500000000000 0000OOOOO 2 x5 10[O000000000O000O0O00OOOOOO
1 x6=60000000000V0V0V0VLOLOVOLOOLOO 2 X6 1200000000000 0000000O0OO0
1 x 7= 7000000000000 00DDVDOOOOO 2 x7 14 [OO000000000000000O00000O
1 x8= 80000000000 O00V0OLOOVOLOO 2 x8 16 [ Q0000000000000 00O00O0OO
1 X9 = 9 0OO0O00O0O0O0O0O0O0O0O0O0O0OOOO0O 2x9 18[00 0000000000000 00O0OO0
TABLE R 8 TABLE R &)
3Xx2= 6000000O00O0O0O0V0OVOOOOOLOOO 4 x 2 I o]Jo)oJoloJoJoJo)oJ0 000000 )00 IO XO]
3x3= 9000000000 O0O0O0O0O0V0OLOOOO 4 x 3 1200000000000 00000O000O0OO0
3x4=12(0000000000000V0O0V0OOOOO 4 x 4 1) (0]01010]010]0 101010 10101010 1O I0 OO IO XO)
3Xx5=15[0000000DO0DO0Q0O0OOV0OOOOVLOOO 4 x5 2000000000000V 0O0OV0OOOOOO0
3X6=18]00000O0O00V0O00V0V0O0OOVOLOOO 4 x 6 2[00 000000000000 0000O0
3xXx7=21[0000000000O000O00OVOO0OO 4 x 7 28100 0000000000000 0O0O00OO
3 X8 =24[0000000000Q00V0O0OOOOOO 4 x 8 321000000000 0000000O0O0OO
3X9=27/0000000000000V0V0VOVOOOO 4 x9 36 [O000000000O00O0O00OOOO0
TABLE R 3 TABLE R ©
5x2=100000000000000O00O0OOOOO 6 x 2 1200000000000 0000000O0OO
5Xx3=15[00000000O0Q00Q000O0O00OO0O0O 6 x 3 1810000000000 0O000O00OVOOO
5x4=20[0000000000000000Q00VOOOO 6 x4 2[00 000000000000 0000O0
5xXx5=25[00000000000000000000 6 X5 30]00000000000V0V00O0O00OLO0OO
5x6=3000000000OO0O0O0O0OO0OOOOOO 6 X6 3600000000000V O0O0OOOOOO
5xXx7 =35/00000000O0DOO0OOV0OOOOOOO 6 x 7 4210000000000 00000V00OVLO0OO
5x8=40[00000000000000000VLO0OO 6 x 8 4800000000000 0000O0OL0OO
5X9=45(0000000000000000000O0 6 X9 5410000000000 0000000L00O
TABLE R 7 TABLE R
7 X2=14[1000000000000000V00VVLOOO 8 x 2 16 [O000000000000000O00L0OO
7 X3 =21[0000000000000O000O0O00OO0 8x3 241000000000 00000000O000OO
7 X4 =280000000000000000O000OO0 8 x4 321000000000 0000000O0O0OO
7 X5 =35/00000000O0DOO0OOVOOOVOOOOO 8 x5 4000000000000 O00O0O0OOVLOOO
7 X6 =42]00000000000000V00VOVLOOO 8 x6 48 OO0 0000000000000 O00L0OO
7 X7 =49[0000000000000000000OO0 8 x 7 5600000000000 000000OLO0O
7 X8 =560000000000000000Q0O00OOO 8 x 8 6410000000000 0000O00OO00OO
7 X9 =63/00000CDCO0OOOOOV0OOOOOOO 8x9 7200000000000 0000000O0OO
TABLE R 9 TABLE R 10
Ox 2 =18/0000000000V0V0OO0OOOOOOO 10 X 2 2000000000000 0000V0OV0OOOOO
O x3=27/0000000000000000V0OVOOO 10 x 3 300000000000V O0O0O0OOOOO0
O x4 =36/0000000OOO0OOOOVOOVOOOOO 10 X 4 4000000000000 000OO0OLOO
Ox5=45/00000000000000O0V0OOOO 10 X 5 5000000000000 0000O000OLOOO
OX6=540000000000DLOOO0O0DV0OVOOOO 10X 6 (V] [0]0]010]010]0]0 10101010010 010 I0 OO XO)
O x7=63/0000000ODOOOOOOOOVOOOOO 10x 7 7000000000000 000O0O00V0O0OO
O x 8 =72100000000000000V0OVOOOO 10 X 8 i) [0]o]oJoJeJoJoJoJoJolo oo o000 00 N0)
O x9=81100000O000AO0O0O0O0O0OO0V0OOOO 10x 9 90|00 00000000V O0V0OOOOLOOO




